Rolled Ball Screws Standard Nut (Shaft Diameter 12 / 14, Lead 4, 5, 10) Rolled Ball Screws Standard Nut (Shaft Diameter 12 / 14, Lead 4, 5, 10)

Accuracy Grade C7,G10 Accuracy Grade G7, C10, continued
- - - Note:
Rolled Ball Screws Standard Nut Type Screw Shaft Nt Part Number Lel-[e] O Mo .
=] _ A Shaft Example Mounting surface of BSST ball nut flange is not surface-treated. (7]
(Shaft Diameter 12 / 14, Lead 4, 5, 10) Nut Type v Lead BSSZK1210 - 370 - F20 - P8 O . . =
% yp FP Grade  |Diameter| 8 Surface : Surface 4 O Filled with lth based Al Gi S$2 made by Showa Shell Sekiyu K.K
= Accuracy Grade C7, 010 Standard o Material | Hardness Material | Hardness Tomiean @ BSSR1204L - 370 L Type Greased illed with lithium soap based grease (Alvania Grease S2 made by Showa Shell Sekiyu K.K). 5
g = @ BSSR1405G - 370 G Type Greased) O various grease options are available. For specifications, P.752. c
= BSST — c7 12 4 — [©) Phosphate O For accuracy of Ball Screws, see P.752-754. H
@ Induction Conversion Coating o X h =4
5 Standard 1055 Hardened | Phosphate s Carburized o For details of Support Units, see P.792-802. o
Carbon C i 58-62 Caution: Do not remove any nuts from their screw shafts or allow nuts to overrun the stroke. =
-] [ RoHS 10| & Nut | BSSR | BSSRK c10 | 12,14 | 4,510 | Steel Hg%r?]%n %l‘ﬁirﬁg | SCM420 | e i, BI:%‘LV(T;?\%% . It may cause the balls to fall out or damage the ball recirculation parts. 3
? BSSZ BSSZK ’ @ Included Collar is packaged together with main body of Ball Screws. 5
g _ Store this Included Collar with care. It is required when mating with Support Units. =
o @ Do not tilt the ball screw assembly. Due to its weight, the nut may rotate off of the shaft. (2]
=3 BSST1204, BSSR (K) 1204, BSSZ (K) 1204 -[F- El é"s
= part Number | prttumer |- - ) 2
?.: 35 *Included Collar | A?trt:ratl:onbse =
7} g 27 8 a o 300 Material: 1045 Carbon Steel /| BSSR1204 - 270 Sc7 -]
o9 0 S Surface Treatment: Black Oxide
N T X E 040 Alterations Code Spec. Alterations Code Spec.
s 5} — @B 82 - -
= | R02 33 § el § No Machining on Support Side No machining added on the support side shaft end. Wrench Flats on Fixed Side Adds wrench flats on the fixed side shaft end.
R 0.2 or Less Bl orLess = o == *Included o | & Shaft End i
3 2 N - ( Colar g s aft En Ordering Code: NC Ordering Code: SZC
g2 | = e == Ne = ;EE sz¢ | Osall bearings vl Shaftia] A | B [ (€)
‘?@[ i n n 2 | o : ‘ L Ads |2 fall out if the ball 12 8|52
T {g{ = \\\ Ry J g S B nut crosses 4 1007 |22
K —=— N\ coller bos| tos > ¥4 10 Ball Nut Orientation Reversed Changes the nut direction. Incomplete Hardened Area the wrench flats.
CO51EES Los ] : : B — R Ordering Code: RLC Keyway on Fixed Side Shaft End Adds a keyway on the fixed side shaft end.
090 (Supp ) ( ) y I g
79'01 = x - 10 Standard q[?ﬂzp RLC gg;ag%dszKenan Dimensions, ® P=5 is not applicable.
0 — e KC = 1 mm Increment
10 ¥ (Nut Motion Range) 10 30 F\M10x1.0 30 4-4.5 Through Changed q:@am O KC | ordering Code: K10
L Arrow View X-X KC @ 3KePx3 KC<F-1
No Retaining Ring Groove on Retaining ring groove in not machined
Support Side Shaft End on the support side shaft end.
BSSR (K) 121 0! BSSZ (K) 1210 M6x1.0 Depth 6 (Oil Inlet) @ RNC | ordering Code: RNC Keyway on Fixed Side Shaft End Adds a keyway at a customer specified area on the
44 “Included Collar © Combination with FC is not available. gée}gcs;de shaft end. (Key groove dim. is the same
e 32 12 7 g o 300 Material: 1045 Carbon Steel = KLC ® P = 5is not applicable.
o —un 2 Surface Treatment: Black Oxide Change Support Side Shaft End Changes the machining on the support side. L . K, S = 1mm Increment
N s wul X =2 o Hi 041 Machining For the screw shaft 12, Q is selectable from 6, 8; K S Ordering Code: KLC-K5-S2
= R020rL s i Z Ro2 S5 2 T Sol T for the screw shaft 14, Q is selectable from 6, 8, 10. O 4K+SPx3 K+SF-1
020rLess ! “ § orless S = N “hncuded | <4 = GC | G="1mm Increment - — ——
o | \ I bl / s o / 1 < Collar s|= S ELEJ Ordering Code: GC-08-G20 Flat Machined on Fixed Side Shaft End Adds a flat on the fixed side shaft end.
== I I i/ n < e | ] O 5<6<0x3 O dimension is shortened. SC = 1 mm Increment
‘g H N L ] © i ) 1 O SC | Ordering Code: SC7
h & \ . \ \ 4 - - SC ,“_(g O 5<5C<Px3 SC<F-1
o5 —[ |* Collar t05| Cos - 10 Change Support Side Shaft Changes the length of the support side shaft end.
cos 0g'd! 2-Seal — ’ T End Length FC = 1 mm Increment
79'¢ L X 10 - fo | oudering Gode: FC20 2 Flats Machined on Fixed Side Adds two flats on the fixed side shaft end.
s 455 O 11<FC<20 Shaft End SWC: 90° Position SGC: 120° Posit
10 Y (Nut Motion Range) 10 30 F\M10x1.0 -5.5 Through 79 O : osition SGC: osition
L Arrow View X-X FC : SWC SGC SWC | 1 mm Increment
g @ SGC | Ordering Code: SWC7
O 5<5WC, SGC<Px3 SWC, SGC<F-1
BSSR (K) 1405, BSSZ (K) 1405 IS 051_|05
40 *Included Collar
30 10 . col. . . o . i Installing Special Temporary Shaft Special Temporary Shaft used for installing
K ) (Ref Machining Recuired) k 30° Z:rtfzrc::I'T:faifni:rtl-n:al:ait:f)lxide Peripherals: combination of the following parts are available. Ball Screw Nut., Always use Special Temporary Shaft
© 33 — X ,‘3 040 ) TAS when removing or installing Ball Screw Nut.
5 8 — *T1E a0 - o=
R 0.2 or Less = H O?Eéis EE _c o By ﬁ F° 5
W_[ g 2 = \(, *ncluded Collar - 2| = Screw Shaft
awo f . S N =
gz | ‘ A \ 1 °® *® . .
C"il § NS z 1 8|~ i fj i - Support Units Support Side
S 1 T i g{ \ \ LY ) — o — Support Units (Square) Support Units (Round) Nut Brackets (Block Type)
* N 7/
cos||lc 1 - coler €05| Cos < 10 Nut Bracket
*+0.1 2-Seal ==
U 9+u 1 X - ‘& . . . . H - H
790 — 10 — Combination with Support Units Support Units Fixed Side
10 Y (Nut Motion Range) 10 30 F\M10x1.0 34 4-4.5 Through
L Arrow View X-X Ball Screw Part Number Recommended Support Units
Screw Shaft Part Number i
Type _Outer Lead Shape Fs':(;g Susl;ggrt Page
Part Number 1 mm Increment Ball | Screw | Number Basic Load Rating - Diameter Type o
Nut | Accuracy Y Ball Center | Root of Axial Play [IWEsting
Type | Grade Type Screw Shaft 0.0. | Lead | L | o Dia. | “pia. | Dia. | Gircuits | C (Dynamic) kN | Co (Static) kN Direction BRW | 108 | o . L©° - 800 Combinati ith Nut Bracket
c7 BSST 150-795 0.03 or Less gggg 1 04 BUR 10 — o 802 ombination wi ut brackets
BSSR 15 8 L-65 BSSZ 10 BSW 10S s ¢) — 794 Ball Screw Part Number Recommended Nut Brackets
2.5 turns, quare
BSSZ 04 150-800 2.3812 | 126 (10) e 2.6 5.8 T BUN 10 — o) 798 Tyme Screw Shaft Lead Part Number Page
BSSRK 15-24 | 5-8 | L-(50+P) BRW | 10 o — | 800 WA Type No.
BSSZK 12 Round BNFB
Standard BSSR Right BSSR 14 05 BUR 10 — O 802 BSST 12 04 BN 1204R 810
e o BSSZ L I 15 tms BSSZ BSW | 10 o | = | m BSSR 10 i 12108 810
d g Square
BSSRK R R RS I Y coum) | 3175 1281 89 1 row 28 Sl BN | 10 | — o | ms BSSZ 1 05 BNFA 1405R 810
— — -(50+ b b
BSSZK O aside frosm the part numbers shown above, there are a variety
BSSR BSSZ 15 8 L-65 2.5 turns. of other Support Units available. (P.792-802).
14.5 11.2 : ’ 4.4 7.3
BSSRK BSSZK 14 05 | 150-800 15-24 | 5-8 | L-(50+F) (12179 row

*F and P are configurable for BSSRK and BSSZK only. (@ F<Px3. kgf=Nx0.101972

¥ MiSUMi

760 There’s more on the web: misumiusa.com Check out misumiusa.com for the most current pricing and lead time. 761



